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Remember (K), Understand (U), Apply (A), Analyse (An), Evaluate (E), Create (C), Interest (I),
Appreciation (Ap), and Skill (S)

Students should attempt atleast one question from each course outcome to enhance their overall
outcome attainability.

[Learning Domain][CO No(s)]

Part A
Multiple Choice Questions
Answer all questions Each carries one mark

1 e faard &) ugelt werl & I 82 Ul [
a) ISP el b) &
c) Wd d) 3aTE

2 T urr fhg faer &) -1 82 Kl [2]
a) I b) 3Tl
c) sy d) HgHt

3 AYTURI &1 qd fawg g Kl [3]
a) Hifgur o1 @RgAuA b) uRfRufaes fawef
c) AR famst d) sffearet faust

4 PUDHEH BT UGE UH D g2 Ul 2]
a) A b) gAY
c) quf d) fodg
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15

RT3 U TSHR 3T BT g foha g2 [u]

a) HOUM b) faArg

c) . d) gAYl

Il T/ AT A8 | BIG T6r-Ug et Hy 82 [K]
a) 3B HIS BT b) =T &I

c) faAig @ d) ATl BT

GO GG 31 Ugel B! B A1 JT§ 2 [U]
a) TR b) 3T JATT

c) BT d W

GO e Toit & TH Bl g2 K]
a) cIal b) <rrer

c) Al d) g3

gexAe ST Hiony RearaRdic 97 a1 8 | fhem Fgr? [E]
a) ol b) Idd

) oM d) foig

offT 8 a1 o 1 % USaT R ... MR EAT AN &8 .... T fpga g2 [S]
a) R U b) Tug®H

c) JuYuigsh d) Udys

4 &R A {69 ug R B FHar 12 [S]
a) W W b) RO

c) YuleH d) HHRMEE

gacl H YTl §gT B 87 K]
a) APICR b) HRCR IHATA

c) TR UEE d) BB

RTEATY TS [REHR F T JRABR ST A HH § 2 [An]
a) TS b) IO deA

c) JuHI g% d) I e

SHIA B | ? (K]
a) gferd b) RO

C) ST d) Togelt

ﬁw T ford IERT T S0 ToTaqRE ©R oA & eI Bt [Cl
)

a) JHNS YR b) I IGNR Bl
c) BRI T TH IS d) THHPIS !
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TR Tged IRaR &R faRy HrieH Hieg S 4as T8 2

a) ot b) HTelat
c) Iad d) faqrg
AT fhge I THSNAT BT el drgat dt?
a) e b) TR
c) Yol Tfee? d) &R
AT fHaeT giva U 2

a) <& b) Tt
c) I d) fare
fiic Ty &1 xed S0 R 8 2

a) fear b) THRR U
C) TR d) SR

AT ) GorTdsd i fh Tse J e R ahd § 2

a) difsar gl Argey b) fSfSred wepTiRar
c) UTSHIT d) A 3R AN AR
Part B
Short Answer

Answer any five questions. Each carries two marks.

a4 q1ey &1 U9 faRIvard &1 - § 2

TIIT TR HEH J Yioh 3 I R 1 S SRIT T2
HITDEFT D HILH T TGD A DU GHE B IR fbar 22
SOt ST UTaT ¥ FexAe & IR T HEAT | 2

Ta & TSDH! DI gl | [T wWie fBradr ur?

TR T[T BT URTaRig RUTe a1 417

ATl fordop 1Y 3R o for 2

Part C
Descriptive Type Questions
Answer any three questions. Each carries 5 marks.

& 3R o g & fore <1 urar et § A9 FT-a HRd 872
BT fHaD] Uil & 3R Fi?

Soit I IO B DI Y 1d MH N Bt g 2

a9 &1 ARA 0 I

99 719 O g5 o1 Bl fAadl @ 2

[V]

[U]

[U]

[U]

[K]

[4]

[6]

[5]

[1]

[3]

(20 x 1 = 20)

[U]
[U]
[E]
[U]
[U]
[U]
[U]

[E]
[An]
[K]
[V]
[V]

[1]
[2]
[7]
[3]
[4]
[6]
[5]

(5% 2 =10)

[5]
[3]
[1]
[4]
[1]

(3 x 5 = 15)
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Part D
Comprehension
Answer any one question. It carries five marks

e Hicad »ua Rig @ Aoy B RRlat & uwe arnl” I
3311 fagR)... SETa... 3@ 1 3BT 8! R WIS o JaIU T & R
DI UG TR R & U GWR ARl DI Ay At | die R dfie HiRead
FIa Rig| T F SN die HreTd Hd Rig P W Ha Rig TRamar
YT o Todi 3811 HRg Rig o Hd a9k T gHaTdl 3TN & HHTS
STl 3G IR ety i mierat & e Wradr @1, X e BIe|
TH-THIS DA I ST 1 ITe | gare If-am & foe fUsd ue
et O Ra=m g fS@ir U1l ST Yohdr a8t 1 Srar| Rawn & gme a
TH M FH1 MS I T Bt At IRY T SreR e IRy
S 4T fo 39 A9 § IRA189 1 & ol gay g1 @1 ISl g |
RISt ¥ AR SHIR IH | TGt ¥ T g1 AHHIRT & g H RY Tl
dic HiReTd Br1d Rig I g1y e e w11

1 TR 3T {5 BTt BT URT g 2

2 $RE RigHH g 2

3 R & forgapt wfrer &t 2

4 IRY T &1 7T & A H TRATS B & (AU T BT 11T 2
5 IRY T ford 9-d &1 RUIR § 2

"T Tiia UT| TG & gaat At G SR 3rabelt| gaeh M & TP B8R W
oft| ggf Hut SHieR o1 URaR 8T ST U1l THiGR R a1l §= Aeps)
P TER I M| Tgol HH 31d & df gaal a9 &I a1d HRd | 1Sl
& a9 I @1 §CaR T fdag I H ygarn iR R gdell B R bt
 4g 78l BRI

1 7779 1 gaah bt ot 2
2 BT | DI IgaT YT ?
3 STHICR I 71 g3
4 S gl T?

END OF THE QUESTION PAPER

***%k

Ul 1,2 3,7]

Kl [1,2,7]

(1x5=5)



